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1.

2.

3.

GENERAL KNOWLEDGE ~ I

Who won the Nobel Prize 2014 in

literature ¢

(A) Herta Muller
(B) Patrick Modiano
(C) Alice Munro

(D) Orhan Pamuk

Who won the Abel Prize 2015 7
(A) Manjul Bhargava

(B) John Miiner

(C) Michael Artin

(D) John Nash

Upanishads are also known as
(A) Ved

(B) Puran

{C) Vedant

(D} Mone of the above
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HETHE J7F = |

1, = 2014 %1 e 1 e QT B
firer 7
(A) wel 7Em
(B) Afe Hifearw
(C) ety g

(D) STHEH IR

2. T 20153 " Teie] TR feE e g 7
(A) A =
(B) =1 fei
(C) wraher STt

(D) S 1

3, Fufee et A oft s s 2
(A) 92
(B) 9o+
(C) d&T=

(D) 3utiFa 4§ i =

TH & @ Teu T
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4. Mahashweta Devi got which of the 4, W] Sofl i THIFT TR W g

following award 7

(A) Sahitya Academy Award
(B) Jnanpith Award

(C) Padma Vibhushan

(D} All of above

& WTA ranking is associated with

{A) Men's Tennis
(B) Wormen's Tennis
(C) Both Men and Women's Tennis

(D) None of above

Subroto Cup is related to which of the
following game ?

(A) Hockey

(B} Chess

(C) Football

(D) Crickat

Which of these are certainly a cause
water pollution ?

(A) FTfEe T=REH
(B) g

(C) wa Tergyon
(D} 39t a4t

5. zewy A, e wefig €
(A) gew 2w B

(B) Tfe efe o
(C) =1 gitem wur g5 FHa H

(D) 3uitee O v T2
6. a1 fohy oa @ grEfad 2 7
(A) BRI H

(B) st &

(C) T A
(D) Bz

7. Tretiatas # & SEa stewge 9 i
FA R 7

(A) Coralreefs (A) FITEHTE
(B) Sodium chloride (B) @rfEgy FenTss
(C) Arsenic (C) AR
(D) All of the above (D) W o
w W & e wm
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8. QOzone layer is harmful in
(A) Troposphere
(B) Stratosphere
(C) Both (A) and (B)
(D) Depending on the frequency of
radiation

8.  Which of the following Statement are
true about GSLVD-6 ?

(i) Is a cormmunication satellite

(i) Launched with
cryogenics

indigenous

(liiy 1t is launched from Satishdhavan
space centre

{‘E'f, (i) and (if)
_AB) (i) and (ii)

(C) (i) and (il

(D) (i), (i) and (il

10. Which of these are associated with
"Minamata Disease” 7

(A) Arsenic
(B) Gadmium
{C) Lead

(D) Mercury

0125/NH — BN/RCE - E

8. HISHA I BT ¢
(A) Zrivefie %
(B) Teemhmy & |
(C) (A) @ (B) A |
(D) =% faferor =t sl v Frefe w2

9. sft.um. v ). €.-6 % = W A T
R ? |
(i) =% =W 39 B
(i) e wrete (Rl swifs o
ﬁﬁ%ﬁﬁ% |
(iily =8 Tevrgas g Wy § v
TR
(A (1) T (i)
(B) (i) == (i)
(C) (i) == (i)
(D) (i), (i) == (i)

10. formmE Tm freg HefE 2 7

(A) AR
(B) Shefimm
(C) &2

(D) wEd

1% & fom =
Space for Rough Work
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11. Which is the second highest Civilian 11, W@ 1 R0 Gl wg] Wi e
Award in India ? CRl i
(A) Padma Vibhushan (A) 75 Eryuw
(B) Padma Bhushan (B) 928 y§u
(C) Padma Shri (C) 929 i
(D) Bharat Ratna (D) WiE T
12, Who wrote “Silappatikaram”™ ? 12 ‘R Bk o e 7
(A} llango Adigal (A) et arfema |
(B) Tirutalkatebar (B) Toeacrmaet
(C) Thiruvalluvar (C) fowaeaan
(D) Narsinh Mehta (D) iR fEa
13. "Hotspot” used in Cricket is 13. sz § 3umin Fen s e B
(A) Ultraviolet Imaging System () FHegmEmEee g firey
(B) Blue Light Imaging System (B) = wge gAfsm Rren
(C) Red Light Imaging System (C) Y& wirge 3T fowm
(D} Infrared Imaging Systern (D) Tis safm fee
14, Common Wealth Game 2018 is going 14, “‘Fim Jeg ve 2018 et amifem gl 7
to be held in
(A) Canada (A) SFTEr
(B) Australia (B) srmeefern #
(C) Newzealand (C) ==feis &
(D) England (D) F7s o
T Fd & o e
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15.

16.

:

Vaman Rac Lakhe is popularly

Known name as
(A) Lokpriya
(B) Janpriya
(C) Panditji
(D) Loknayak

Mame the Maratha Commander who

invaded on Ratanpur.
(A) Bhaskar Pant
(B) Raghuiji

(C} Mahipat Rao

(D) Bimbaji Bhonsale

What is the 'Dhanlaxmi Scheme' in

this state ?
(A) Employment for poor women
(B) Grant for Backward class

(C) Toincrease the number of female

child

(D) Employment grant

0125/NH — 1WHCE -E

15, M9 TE ¥TE 39 AW H uiEg

(n) it
(B) sl
(C) wfemsh
(D) AT

16. TR T AATHAY G arel HUST HAmfd
&AW 9

(A) TR T

(B) Tf
(C) wEia 1
(D) Termmsii siigel

17. 36 T4 1 "SoEr g s e f

(A) rtm il & T H

(B) fwd =i % fordl argam
(C) ==n fimy) 57 = 7 5fg

(D) T FEN

T o o Teme
Space for Rough Work
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18.

19

20.

Which of the following country is
highest importer of diamond 7

(A) Belgium
(B} Canada
(C)/ India

(D)| China

Whiiph Bastar ruler was defeated by
Kalturi ruler Jajlladeo | 7

(A) | Annamdeo
(B) Vilastung
(C)  Someshwar

(D) INone of these

Which of the following is Minimum
Support Price for cornmon paddy in
this state in 2013-14 ?

0125/NH — BN/RCE - E

18, Frefefan 1§ 4 s s 2R aad a7
ST © ¢
(A) wfeagn
(B) Far=n
(C) s

(D) ==

19. el ¥4 Freleerad 999 3 a0 = 5y
YT 2 T TR T 7
(A) e

[

(B) feemagn
(C) wtitver
(D) T & =S =&t

20. ¥ TS H WHW U FT wen gued
07 9 2013-14 5§ =1

(A) T 1,310 (A) T1,310

(B) 7 1,345 (B) T 1,345

(C) T 1,285 (C) T 1,285

(D) 12 1,410 (D) T 1,410
TE A &% o e
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INDIAN ECONOMY ATt Srefeaae

21, Afal Innovation Mission is setup 21, “srze wayH e’ Fewes st wnfiE

under T ?

(A) Finance Ministry SRERREIGE]

(B) NITI Ayog (B) =fifer mam

{C) Ministry of Skill Development and (C) et foerme T Se HATeHH
Entrepreneurship ; '

(D) Prime Minister Office (D) weawE FHEw

22. The "AMRUT" Project started by 22, @R g 20153 JEHITE Ceme
Central Government in 2015 is (AMRUT) wfeisen dati 2
related to
(A) Rural Development (A) T faam |
(B) Smart City Mission (B) =e Tt e
(C) Financial Inclusion Plan (C) st worE g |
(D) None of the above (D) 39T H @ =g A ‘

23. Which of these statements are 0n. Frefafas ¥ & 298 w9 Ry =R
related to Foreign Trade Policy - = '
(2015.20) 2 Hift (2015-20) & TG & 7
() Increase exports to 900 bn$ by () 2019-207= Faid 51900 &Efems e

2019-20 T TG
(i) Raise India's share in World (1) Forger Frarfer 1 wrve =1 T, 2019-20
exports from 2% to 3.0 % by A o :
201590 T, 2% ¥ 3.0% =FGHT
(Il) Schemes such as Merchandise () “wei=ga wwEar s 3ea’’ @
Exports from India (MEIS) and “afde T T =T St S
Service Exports from India (SEIS) A6l ®
(A) ()and(ll) (A) (= (i)
(B) (1) and (II) (B) (IMy=er (1)
(©) (1), (1) and (1) () (I, (==
(D) None of the above (D) o A HIE AR |
% wd % R wam |
|

Space for Rough Work
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24. “Perdrop, More crop” is related to 24, "'wgm, aET wEiy 2
(A) Paramparagut Krishi Vikas Yojana (A) TTegTrTd T T g 8
(B) Pradhan Mantri Krishi Sinchai (B) srril o s A #
Yojana
(C) Pradhan Mantri Adarsh Gram (C) e eyt o aree |
Yojana
(D) Pradhan Mantri Gram Sinchal (D) v am = giem g
Yojana
25. Which of these can be classified 25. Frefafea @ G ol genm F wa d
under “natural resources” ? Frfigre e T R 7
(1) Electromagnetic spectrum (1) IR Sy
(Il) Transponders (I gET=E
() Coal, Petroleum, Natural gas () FrvE, Ugierm, W e
(IV) Polymetallic Nodules (Iv) viefiderfers gge
(A) (1) and (1K (A) (1) 7= (1)
(B) (B, (1) and {IV) (B) (1), (1) wem(iv)
(C) (), (1Y and (1V) (C) (i), (1) sa (1)
(D} None of the above (D) T # F 7t

T wE & e we
Space for Rough Work
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26. What part of total land of India is 26, e =Y =1 R ﬂmﬂﬁﬁaﬂﬁiﬂﬁﬁ%?

covered with forest 7

1
() = par A |
1 1 |
(B) 7 part (B) g HmT |
1 1
(C) g part (C) 5 "™ |
D
) £ par -

27.  In“Priority Sector” Lending is given for 97, “wrafiea wer | o w9 B e e g ¢
() Agriculture Sector (1) =T g
{Ily Students' Educational Loan (1) Terem=ff fier =0
() Budgetary Subsidies (I EEEE:EEE
(A) (l)and (ill) (A) () and (Il
(B) (1)and (I1) (B) (1) and (Il)
(C) (1} and (Il (C) (1) and (1)
(D) None of the above (D) e # & =g el
28. |f Repo Rate Increases then, og. gfe " " 4 Iig 2Rl &, @

(A) Money supply decreases

(B) Meney supply increases

(C) Money supply may increase or

decrease

(D) Money supply shows no effect

(A) TH1 WER A 218
(B) a1 S =l @
(C) Y WET %W AT AT T THAT

(D}@Wqﬁ%‘rﬁmq'é“?”ﬁ"m

TF & & Ton e
Space for Rough Work
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29,

30.

31.

Which is the most important rate for

monetary and credit contral in India ?
{A) Bank Rate

(B) Repo Rate

(C) Cash Reserve Ratio

(D) Statutory Liguidity Ratio

Rural Infrastructure Development

Fund comes under
(A) SEBI

(B) RBI

(C) NABARD

(D) SIDBI

Pradhan Mantri Kaushal Vikas

Yojana includes

() Bkill Certification
(1} Monetary Reward
(A) Only (1)

(B) Only (I1)

(C) Both {1y and (I1)

(D) None of the above

=12

0125/NH — BEN/RCE - E

29. e T Hifse o g FreE o ol Gy =
1 T FEEyS] 7] S 7

(A) 3 2t

(B) T =

(C) T8 TWE HIH
(D) el et A

30. wior SraETET EeE s aa e

(A) Bt

(B) vt frod
(C) T

(D) feresh

. THHE FE e e § e 2

(1) SrTe THEm

() HET qrERT

(A) Tas (1)

(B) T (1)

(C) (1) 7o (11) A
(D) Imiraa o wrd &

T wE & Twowm
Space for Rough Work
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32.

33.

Housing for all by 2022 is aimed for
() Urban Areas
(I} Rural Areas

(A) (1) only
(B) {1ty only
(C) Both (1) and (I1)

(D) None of the above

The term “fracking” is used in the

context of

(A) Fertilizers

(B} Metal-cres

(C) Shale gas

(D) Coal

Exclusive Economic zone extends

upto

(A) 200 nautical miles from contiguous
Zone

(B) 200 nautical miles from territorial
waters

(C) 200 nautical miles from baseline
from which breadth of territorial sea
is measured

(D) 250 nautical miles from territorial
waters

32.

0125/NH - BNVRCE - E

|
“gsft % o s 2022” EETIT-TEI 2
(1) Tt &= |

(ity Trreftor &=

(A} o (1)

(B) f& (1)

(C) (1) aem (1) EMT
(D) T 8 7S el

33, “SRbT T T SR Read i R

(A) wfeemser (3497)

(B) T=el 24T (4Tg 319%5)
(C) T

(D) =T

(A) FTEH T H 200 Tt Hie =
(B) 2igifas 7 d 200 FiEiEa Wi a5
|

(C) Fgaa °, e Eias e &
T2 At ST 2, 200 Aidwe Hid 7%

(D) fidifere AT # 250 Hifewha Hiw 7

6 FwH & e
Space for Rough Work
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35. How many industries are reserved in

public sector in New Industrial Policy
of India 7

(A) 3
(B)/ 5
(€)' 6
(D) 8

Which of these is related to organic
tarming ?

38.

(1) Chemical Fertilizers
(I} '{Green Manure
(1) ‘Qil Cakes
(IV) Press Mud
(A) (1), (1) and (1V)
(B) (1) and {111
(€C) ‘() and (IV)
(D) (1, (1), () and (V)

37. According to July 2015 World Bank

Hepbr‘t, India became how many
Trillion Dollar Economy ?

(A} 2 Trillion Dollar
(B} B Trillion Dollar
(C) 4 Trillion Dollar
(D) & Trillion Dollar

0125/NH - BNVRCE-E

35, i i et et ifd = Sfwie wet
85 o5 ol sl s <5 v et 2 7

(A) 3

(B) 5
(C) B
(D) 8

36, Fraferias 4 € $my aifis @t @
Tl 2 7
(1) Wl 39w
iy & @r
() srae =
(V) i3 78
(A) (), (T (1v)
(8) ()= (Ii1)
(C) (T (V)
(D) (), (), {nysrat(Iv)

37. SEE 2015 ¥ sl fava &= 6 ol &
SFHT T ey o1 foan feferas
TRA TR Y

(A) 2 Rfrg g
(B) 3 Rfermm st
(C) 4 Teforam sfer
(D) 5 feferem efen

T @ & T e
Space for Rough Work
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38. New Development Bank is

headquartered at

(A) Beiling, China
(B) Mumbai, India
(C) New Delhi, India
(D) Shanghal, China

39. Who among these is associated with

definition of FDI and FII 7
(A) Jalan Committee

(B) Urjit Patel Committee
(C) Mayaram Panel

(D) Machiketa Mor Committee

What are "Masala bonds” ?

(A} Rupeedenominated bonds issued
by International Monetary Fund
(IMF)

(B) Rupee denominated bonds issued
by RBI

(C) Rupee denominated bonds issued
by International Finance
Corporation (IFC)

(D) Rupee denominated bonds issued
by BRICS bank

0125/NH — BN/RCE - E
38, ‘= tamIie S% 0 A B

(&) =i () 3 |
(B) =i (sew)
(C) % Teeett (A
(0) e (<fi)

yH

39. Trerferftam & € & FDI % Fll
T g 7

(A) soTH B
(B) e wem wf
(C) "y U
(D) faerar T wiEf

40, ‘muwen e w7

(A) sfaTregTa qz FI1W g1 S ¥
femires T2

(B) s el s g s w98 femnes
Hirg

(C) gty Form o g 91 w94
femfiaes st

(D) o g i v e A

T® & & o T
Space for Rough Work
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AH‘ITHMIETIC AND LOGICAL ABILITY AR TF Wicheh araar

41. The product of two numbers is 97461 41, gfa BY ST 1 UEEET 97461 B U1 IH
and their greatsst common divisor is EAH FAEE ST Al HERH HEEn
21 then their least common multiple is 212, @
(A) 4481 . (A) 4461
(B) 4641 (B) 4641
(C) 4861 (C) 4861
(D) None of above (D) 3w ¥ ¥ F15

42. Acartravels a distance d on a straight 42, R uEHN TEE wdgh 2o d @
road intwo hours and then returns to et B T R T o 3w i

the starting point in next three hours.

; T 1 AT & | TR S0E =W
Its average speed is

@ 4 ™ g

(B) g- ® S

© &= © 2

(D) % (D) EEE
w e % T

Space for Rough Work
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43, Ifd=gcd (a, b), then ged [T:i-' E] =

(A} 1
(B) b
(C) 2
D) d

44, Aperson purchase a scooter at certain
cost. After two years he sells it at 20%
loss. If he had sold it for ¥ 4,000 more
he would have got 20% profit. What
was the purchase of scooter ?

(A) 10,000

(B) 20,0003

(C) 8,000%

(D) None of above

45. The value of

A7-

0125/NH - BN/JRCE - E
b
43, 9 d = ged (a, b), 7 ged (%‘;J =

(A) 1
B) b
(C) 2
(D) d

44. ﬁﬂﬁﬁﬁﬁﬂﬁﬁﬂ?ﬁ?ﬂlﬂmm
FAT S| B A =1E 98 39 20% w A
%m%mﬁ%ﬂ.ﬁmﬂﬁﬁmﬁsﬁ

20% T Blall, THet o T4 Yod a9 91 7

(A) 10,000%

(B) 20,000%

(C) 8,000%

(D) Fia 3§ & Fé T

45, Trerierfas =1 om ¥ ]

|
(1.5)); x{z.?J)é (1 -5]% x(3~7))é | |
10/‘/5‘ ‘IG% ‘
(A) 1.2 (A) 1.2 i
e 12
(B) 70 ® Tig
12 i2
C) —7 C) —>
1073 e 10/ |
(D) Nene of above (D) IulEa o & Fig et
& s & o e
Space for Rough Work '
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486.

47,

48.

Wﬁich of the following is least ratios 7

231 B 67 47

FEE T
(A)

(B)

R «|§ &

(C)

| 47
(D}Tg

Complete the following series :
BZ, HT, NN, 7, ZB

(A) LF
(B) SX
(C) TH
) T

Choose the correcl alternative to

complete the following series :
abca bcaab ca _bbec

{A) ccaa
(B} abac
(C) bbaa
(D) abba

0125/NH - BN/RCE - E

46, Frorfefim o wem @ arum S R 7

25 37 67 . 47

73’21 15

25
(A) El
37
(B) a3
67
(€ o
47
D) 75

47, TR Sl oot a0
BZ, HT, NN, 7, ZB
(A) LF
(B) SX

(C) TH
(D) TI

48, e doft = yi e g shae R
T F
abea _bcaab _ca _bbec _
(A} ccaa
(B) abac
(C) bbaa
(D) abba

T =Y & & wm
Space for Rough Work
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fe

A |
49. Select the alternative box which can 49. 92 AsfRw T I9 F0 W) e A H
be formed by folding the sheet ‘A’ e T S o '
_ E
A B G 2 l A B c D

(A) '

X

(B)

COACOREY,

(C)
(D) None of above (D) It 4 & &g T&

50. Find out the two signs to be 50 Tl ol § e ar EsEiFiE=a
interchanged for making the oY, Gt T B '
following equation to be correct : |
5+3-5x5+ 1=15 S “BRO TSN
(A) xand— (A) x3%—

(B) xand+ (B) x 3+

(C) + and— (C) = 3 —

(D) +and - (D) + 3 —
% W o o v
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51. Har!‘n borrows a certain sum of 51. 10T o © 10% anfis Iwafy = #i
money from a bank at 10% per T E T RTINS 2 | 9 G I
annym at compound interest. The T 1,000 ) 31 it 3 g 2 | e Rre
enfire debt is discharged in full by )
Ram on payment of two equal e = o o gl v g
amounts of ¥ 1,000 each, one at the 37l H | A1 3Heh g1 34T ) 71§ Ul 1 e
end of the first year and the other at AMAEE 7
the end of the second year. What Is
the approximate value of the amount
borrowed by him 7
(A) ¥ 1,852 (A) T1,852
(B) ¥ 1,736 (B) 1,736
(C) % 1,694 (C) 71,694
(D) ¥ 1,792 (D) T1,792
52, In a school there is ratios of 4 : 3 52. forell e 1 wre T TRl = g
between boys and girls. If the number 4 : 32| A wTeiwal Sl 9= 10% F&7
of girls is in increased by 10% their ¥ ! FE 363§ B, ﬁ@‘ﬁﬂm
number is 363. What is the total Terentiait 1 s sfer fT 7
number students in school now ?
(A) 753 (A) 753
(B) 803 (B) BO3
(C) 770 (C) 770
(D) None of above (D) 390 & & g 72t
% & o e
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53. What is the average of first thirty 53, T TG TR S T S e E 7
natural numbers ?
(A) 20.5 (A) 20.5
(B) 15.5 (B) 15.5
(C) 7.75 (C) 7.75
(D) None of above (D) Sytvra # =i T
54. A bottle is full of dettol. One fourth of 54. TF wad § Lz w0 2 | 3w wm e
the dettal is taken out and water is S SO SO ST R ) 4R TR v
added this process is repeated thrice. 17w drerrl s Al fiEd a\ F gvEE
What is the ratio of dettol and water SETE T T T S B0
after third time ?
(A) 28:36 (A) 28:36
(B) 25: 29 (B) 25: 39
(C) 15: 49 (C) 15:49
(D) None of above (D) IR A G 13 T8
55. What will be next number in the 55. Frfeiliag sgea o 2men wg =51 Erm ¢
following sequence 7
2,10,30, 68, ...
2,10, 30,68, ...
(A) 130 (A) 130
(B) 115 (B) 115
(C) 125 (C) 125
(D) None of above (D) 37 H 18 T8l .
¢ W o e
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-

56. Find|the next term in the following 56. Tmlfuias s1gea 9 sven 78 3@
sequence.
8A, 11B, 15C, 23D, ... 94A, 11B,158C, 23D, ...
(A) B5E (A) 35E
(B) 37E (B} 37E
(C) 39E (C) 38 E
(D) None of above (D) T90 | =78 T
57. What will be the next figure in the 57. Fieafaften a3 smmen fam wndm 7
following sequence ? ' '
X O
A O 7 X  0]lo
X
Q 0 5
X X
(A) (A)
s 0
() (B)
O X 0O ¥
© | (C)
8] X O X
(D) None of the above (D) T 1 & i =
% T % oo
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G8.

59,

If ‘a’ means +, ‘b’ means —, ‘¢’ means
x and ‘'d’ means + then the value of
(BeT)c(7Tab)b(6d3)d(3b2)

{A) 650
(B} 375
(C) 670
(D) None of the above

What number will come in the blank
space in the following diagram ?

3| 8 34

45

1 2 14

T
2| B|8
H
2

o |43 ?

(A) 21
(B) 19
(C) 17

(D) Mone of above

What will be next term in the
following seguence
H S FUD,?

(A) W
(B) Y
(C) O
(D) Nene of above

58.

£9;

0125/NH - BNVJRCE - E

72 '3’ H UGS +,'b’ F Heww —, ‘¢’
TaeE x 37 ‘d' i o + iﬁr,fh
(Bc7)c(7as)b(6d3)d{3b2)

(A) B850

(B) 375
(C) 670 |
(D) Iwirea A & 8 e
Frfarfae for 3 weft e & @ven ot
w7
|
3 & | T | 34 |
2 i 9 | 45
1 21314
5 a2 7
(A) 21
(8) 12
(C) 17
(D) IWET ¥ wig Tl
60. i srpen & e v =T Em
H,S, FUD,?
(A) W
(B) Y
(C) O

(D) 3w § § TS T

% w1 & o wam
Space for Rough Work
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COMPUTER RELATED KNOWLEDGE

81.

g2.

63.

A pﬁnter cannot be used to print
graphics

{A) Inkjet Printer
(B) Thermal Printer
(C) Daisywheel Printer

(D) Laser Printer
|

Ctrl+V |sused to the content
of the clipboard at the cursor,

(A) Cut

(B) Copy
(C) Paste
(D) Undo

In MS Excel worksheet “Insert
Function” dialogue box can be
opened using keys

0125/NH - BN/RCE - E

TR AH

81. = T foreem s@m mites file #6313
! g s wa
(A) Tehsie fiver
(B) gdier fil
(C) weftester fitet
(D) &= i

62, MmEEF =S se SRR
Ctrl+V T FEHTS BT 2 |
(A) F2
(B) =it
(C) T
(D) ¥5

63. UHUH TR eI 8 HE keys I
# “Insert Function" @M @199 B
Tl &

(A) F3 (A) F3

(B) Alt+F3 (B) Alt+F3

(C) Shift+F3 (C) Shift +F3

(D) Ctrl +F3 (D) Ctrl + F3
T W % o s

Space for Rough Work
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64. To find required text in Powerpoint 64, AT Tt ) Tergen H aifed R
slides “Find" command Is provided G 7 Wed “Find” FAIVS @
in tab. I E |
(A) Format (A) FTHZ (Format)

(B) Insert (B) s%¢ (Insert)
(C) Home (C) W (Home)
(D) View (D) = (View)
85. Which one of the following is not a 65. i 3 & Sa wri Sewfa ([
A
name of early computer ? H ) T A A @
(A) MARK | (A) MARK |
(B) ENIAC (B) ENIAC
(C) UNIVAC | (C) UNIVAC |
(D) ADA | (D) ADA |
66. Which of the following a volatile 66. Frafwfaa # & Fta FemeRs 46
memory ? (ayfeafa =i 2) ?
(A) PRCM (A) PROM
(B) ROM (B) ROM
(C) RAM (C) RAM
(D) EPROM (D) EPROM
™ & % o e
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§7. Whatis youtube ?

8.

69.

70.

(A) Video Making Site
(B) Video Chating Site
(C) Video Sharing Site
(D) All of these

Linuxjis afan operating
system.

(A) Windows

(B) Microsoft

{C) Mac

(D) Open source

It is a computer animation software
(A) Flash

(B) Maya

(C) 3DS Max

(D) All of these

The correct sequence of storage
media according to their increasing
storage capacity is

{A) HVD-CD-DVD-Bluray

(B) CD-HVD-DVD-Bluray

(C) CD-DVD-Bluray-HVD

(D) CD-DVD-HVD-Bluray

0125/NH — BN/RCE - E

67. -=E R T
(A) e oidm oz
(B) fafeat fén ume
(C) Tafear sr=fin @z
(D) I &l

68. wived Th

(A) FEr
(B) ATEHIETR
(C) B

(D) siro= g

69. UE UF FHFgE UHHIF HTREE &
(A) wrsT
(B) =
(C) 32y A
(D) 3w Tt

70. gl WEMU HE F HIH WERW HIEH

(storage media) 1 WE & &

(A) HVD-CD-DVD-Bluray
(B) CD-HVD-DVD-Bluray
(C) CD-DVD-Bluray-HVD
(D) CD-DVD-HVD-Bluray

TF wE & fon =
Space for Rough Work
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72,

73.

In a MS Word document “Hyperlink”
can beinserted any whera using the
following keys

(A) Ctrl+k

(B) Alt+k

(C) Shift+k

(D) Ctrl + Shift + k

In a MS Excel worksheet calculating

aformula = 150 displays an error

(A) # NULL
(B) #DIV/O!
(C) # NAME 7

(D) None of these

Which of the following device is also

used for backup ?
(A) RAM

(B) Hard disk
(C) ROM

(D) Processor

o7-

|

0125/NH - BNVJRCE - E

71, unew S g 1 Tl T w T keys

T2,

K3

(=1 =) T ITArT F R S

ST HFT B |

(A) Ctrl +k

(B) Alt+k

(C) Shift +k

(D) Ctri + Shift +k

iy e E ghIfiz ¥ g3 (formula)
_15/ ' 2
= %ﬁwmﬁmﬁ@ﬁaﬁﬁ'ﬁﬁ
(A) # NULL

(B) #DIV/O!

(C) # NAME ?

(D) ¥ § Fre T

Frerfertarn & & e fearaw (e 3o
FioadtwEmame ?

(A) RAM

(B) Hard disk

(C) ROM

(D) Processor

TF S & oo we
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74, A computer peripheral cannot be

75.

76.

connected to a computer using the

device

(A) USB

(B) Parallel Port
(C) BIOS

(D) Serial Port

When sending an e-mail, the _
line describes the contents of

message.

(A) To

(B) CC

(C) Contents

(D) Subject

What is a cookie ?

(A) Hardware

(B} Web Browser

(C) A file in your computer

(D) Modem

0125/NH — BN/RCE - E

74, 39 feamsg & IWEM § UF Fog ViR
1 e & Sigl el 9w 2

(A) 1. wg. =i,

(B) s wri

(C) wrE

(D) Tafas v

75. 3-Hel Yad T, HAET o H
wefifa wEr & |

(A) To
(B) CC
{C} Contents

(D) Subject

76. PR AR T
(A) T
(B) a5 FTE=1T
(C) o1 Frger § OF IS

(D) wieq

o & & oo
Space for Rough Work
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77. A smaller version of an image is 77, S W Wi 9 FEeal o
called a
(A) Clipart (A) fFemeTE
(B) Portable Network Graphic (B) ™réaret ~eseh M
(C) Thumbnail (C) F=re
(D) Bitmap (D) Forita
78. Which one is not a video file 76, S Sifed TEE e qw 8 1
extension ?
(A) .MP4 (A) .MP4
(B) JPG (B) JPG
(C) .AVI (C) .AVI
(D) .aTt (D) .QT
79. Whatis Firewall ? 79, e IR 7
(A) Operating System (A) STTofn Tawen
(B) Metwork Security System (B) Hz=sh R T
(C) Computer Virus (C) FF=pzl SEE
(D} None of above (D) I FE T
o U means 80. URL = e ®
(A} Uniform Resource Loader (A) FhH R o
(B} Uniform Resource Locator (B) 7w fatd wihet
(C) Universal Resource Loader () @aﬁ:{ T e
(D) Universal Resource Locator (D) Ffraa T e
TF % & o
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HINDI LANGUAGE/f&= sman

84, ‘T IUVFHTEAT, T AT %1 We) o7 B

81. WiIs 9y ga, BT s s 4 16-16
(A) =t (A) ST &
(B) =TS (B) Fam 3
(C) Hrean (C) S~ &
(D) Ter (D) o 3 7 wE
g2 aTeged W HIT 9fFs @ &t fyer %1 85. frerfra # 8 ol wyw =t gFA
el ¥ H T 6l T g e B 2
(A) (A) FamTt) forfty 3 =il =1 g 54 2
(B) = (B) =M 1 oI w@ad w9 § fwan =
AT |
&) ™ (C) =i s i A e & i R
(D) =miE (D) T =fal =erEt % I § gEE
2l 2|
g3, Ferifen # @ = W= Ses W @ 86. T i1 B e viee 31 A WA TEI T 2
T 98 B 7
(A) FH (A) T=TE]
(B) =ael (B) frz
(C) (C) aEAM
(D) = (D) TR
T wE F o ram

Space for Rough Work
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g87. T AFH 'F9F F SEdE T {2 91, Tt & v g y1eg < ST i |
ki (A) et
{Ejg (B) AT
(C)
T
(D) @ )
(D) @7 |
88. 'wwg U W HEl o "Ry
(A) T Fe g W we e o2, Feies © A wiar wee Ry R 2
(B) =9 H IF (A) i
(C) Ty fora o wm A # -
(D) = TH I
(C) B
89. Gad weel fim SrEHETE (D) Tt
(A) e
(B) @y o3, i i & = 6 g & anpE I
© (A) mmamea R T vgE &6 4 g
g0, forfira 1w faehia 2 & |
(A) i3 (B) T TR AN Hee # for gen 2
(B) Hiftaw (C) ge=ht 1 #ig oft G FEgm-FI F
(€) swiza T B T Rl |
SR () st 2w wd Wil B)
T THE & fow e

Space for Rough Work
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g4, Tifen # ¥ FoRIE wHE H R 97. el fana 7 B g f fardve e e
o | ST B FE FH-H1 A RlaT 8 7
| (A) st

() T (B) Fawrargm
(B) Trer (C) vém
(©) i (D) T+
(D) e 98. TREUTE H FHU W B
(A) Tt
g5, 4,7, F-FH A aidg? (B) TETEIETE
, ) (C) Toreremme
(A) BZF =H
(D) =eiwme
(B) B =9
iy e 99, TR T q 1 o 9. F GHI | 1 FEI 8 7
. (A) Ted
ol b (B) =era
S, 1 I A (C)
96. '3 aim 'S forg wm F i B (DY T
(A) Fraa
| 100. = W F1 wrEf 9E e ?
A & (A} ¥iteR
(C) ammay (B) T
(C) T
(D) T
(D) ooy
T @ % o wm

Space for Rough Work
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ENGLISH LANGUAGE/sTtrsft st

101. Find out which part of the following 103, Choose the correct spelling from the
sentence has an error. If you feel given alternatives to fill in the blank
there Is no error, the letier Nl and complete the following sentencs.
signify a no error response.
| asked him how could 0 ou The__ tobegihtnerace

| I was the sound of a gun shot.
if it started raining. No error, (A) que

I IV (B) cue
il (C) queue
(8) I
(©) 1 (D) cueue
D) IV .

104. Select the group of words that is most

102. He urged the Council to reduce the nearly similar in meaning to the idiom
rates. in capital letters.

Which of the following is/are the BRING HOME THE BACON

correct passive form/forms of the

above sentence ? (A) To atiract clientele

(i) The Council was urged to reduce (B) To take up a new job
the rates (C) Toachieve something successfully
(if) E‘;er;:incil were urged to reduce (D) To purchase a new house
(i) :Z:J;%?jd that the rates should be 105.. The plural of thasis s
(iv) The rates were urged to reduce (A) thesies
(A) () (B) theses
(B) (i} and (ii) (C) thieses
EE; Eli:}{u} and (iii) (D) thesis
T A T U T
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106. Find out which part of the following
sentences has an error ?

The person who talks mostly
I Il

i_s_oﬂe__u_mm_e who does least.
1] v

(A) 1
(B 1l
(C) M
(D) IV

107. Inwhich of the following sentence the
use of the idiom 'buckle down’ is not

appropriate.

(A) They chatted idly for a few
moments; tljsn each buckled down
o \Inmrk.

(B} Jim was fooling around instead of
studying ; so his father told him to
buckle down.

(C) He stood there buckled down
when told that he had won the

award.

(D) None of the above

0125/NH — BN/RCE - E

108. The proverb 'Speak fair and think
what you will’ is related to

{A) Hypocrisy
(B) Contempt
(C) Envy

(D) Flattery

1089. Which word is not an antonym of the
word 'OPAQUE' 7

{A) Transparent
(B} Clear
(C) Clever

(D) Ajar

110. Which word is not a synonym of the
word ‘even ?
{A) Abreast
(B) Just
(C) Placid

(D) Despicable

T T % e ramm
Space for Rough Work
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111. Choose the word nearest in meaning T Gnoase e gorien s.ant:a-ljce.
D (A) Though he is fat but he runs fast
s L R (B) Though he is fat still he runs fast
sentence. (C) Though he is fat yet he runs fast
Romiila is careful that every detail of (D) Though he s fat, he runs fast
everything is correct. 114. Choose the incorrect expression.
(A) Fastidious (A) He pointed the tree
(B) He pointed to the tree
(B) Thrifty (C) He pointed at the tree
(D) He pointed out the tree
(C) Profligate
(D) Swanky 115. (&) a blue long ribbon
(b) a long blue ribbon
112, Choose the most appropriate one Which statement regarding the above
a ‘ sentences is most appropriate ?
word subslitute for the underlined (A} Only '’ is correct
expression from the given (B) Only'b' is correct
altermatives. (C) Both 'a’ and 'b" are correct
(D) Both 'a’ and 'b’ are wrong
Australian animals that carry their
young ones in a pouch. 116. Prices have gone down recantly.
_ In the above sentence, the word
(A) Marsupials ‘down’ is used as
(B) Mammals (A) a preposition
(B) an adverb
(C) Nocturnals (C) averb
{D) Homosapiens (D) an adjective
% &M % o e
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118.

a) How are films made ?

b) Thibyr with the hard
work of hundreds of people.

Choose the most appropriate
altern:?tive to fill in the blanks of the
above sentence.

{A) are made
|

(B) made

(C) were made

(D) are being made

“You mustn't cross the road against
the red light”.

Choose from the alternatives given
below the most appropriate sentence
which égives the same meaning in
Hepnr}ted Speech for the above
sentence and is in correct English.

(A) He told us we mustn't cross the
road against the red light.

(B) He told us we weren't to cross the
road against the red light.

(C) He told us we didn't have to cross
the road against the red light.

(D) He told us we wouldn't have to
cross the road against the red light.

119.

120.

0125/NH - BN/RCE - E

Match the following nouns in

Section 'A’ with the opposite gender

in Section 'B'
Section A Section B
1) Drake a) Filly
2) Buck b} Bee
3) Colt c) Duck
4) Drone d) Doe

(A)1—-a,2—-b,3-c¢,4-d
(B 1—-d,2—¢,3—-b,4-2a
(C) 1—¢,2-d,3-a,4-b
(D) 1—b,2-a,3-d,4—¢

Pick out the correct preposition that
is most appropriate to be attached to

the word ‘Interfere’.
(A) against

(B) with

(C) by

(D) on

% wd % o s
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122.

123.

GENERAL KNOWLEDGE -l

Which one of the following Is a

“scalar quantity” ?
(A) Velocity

(B) Force

(C) Energy

(D) Magnetic field

Fermentation is

(A) Aerobic respiration
(B} Anaerobic respiration
(C) Cellular respiration

(D} None of the above

When was the oco-operative

movement started in India ?

121.

(A) am

(B) =

0125/NH - BN/RCE - E

AR T =

g dam “afm o g 2

(C) Tl
(D) ST &7

122, fyvaq 2

(A) TR YEET

(B) =ty TH

(C) =g w&e
(D) Fwaa # & = e

123, HT T WEHT SAETe il YT 8 ?

(A) 1934 (A) 1934

(B} 1904 (B) 1904

(C) 1914 (C) 1914

(D) 1947 (D) 1947
TF wE & e
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124. Who estimates the data of National

Income in Indja 7

(A) Planning Commission

(B) Central Statistical Organisation
(C) Reserve Bank of India

(D) Finance Ministry

125. Inwhich latitlude temperate zone falls 7

{(A) lacated between latitude

L]

0% - 23% Morth and South of the
equator

0

(B) located between latitudes 23% to

EE% North and South of the

eduator

(C) located between latitudes

o

ES% — 807 North and South of

the equator

(D)} MNane of the above

0125/NH - BN/RCE - E

124, WTE ¥ TEEE M F AEOH TR g
frar ST E 2
(A) FrsT TR

(B) e giferha wme
(C) g fisd &=

(D) o= o

125, Torm swger A wimen Fag wramr e ¢
(A) mes Y § 39 o gfEer g

»
D“—ESE ST & HEd

(B) yHem @1 & IR wd 2iEm zsg

# aageimﬂa e
(C) guea twT ¥ Iet U IR
55-;-0 H 90° 374797 & Uy

(D) 39t 8 # g Tl

T @ & o v
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126. When was the nationalisation of

Reserve Bank of India done 7
(A) 1958
(B) 1947
(C) 1945

(D) 1948

127. Which soil is formed by the
weathering of crystalline and

metamorphic rocks ?
(A) Red soil

(B) Black soil

(C) Desert soil

(D) Lateritic soil

128. Which among the following is the

worlds second highest peak ?
(A) Kanchenjunga

(B} Dhaulagiri

{C) Godwin Austen (K2)

(D) Nanda Devi

-39-

126.

127.

128.

0125/NH — BN/RCE —E

frsrel <fep 2T <o = Ui S AT 2

(A) 1959
(B) 1947
(C) 1945

(D) 1949

freefln vd FEaTE 9EEl & e |
Fredt fordt = 2

(A) = gt

(B) wreft firg)
(C) et gt
(D) Freusiw st

= 1 & et =7 e i gud weifts
SAE T |

(A) S

(B) dief

(C) mefem anfed (K2)

(D) & ot

T & & o wam
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129. At which of the following place wars 129, Fmoiis ¥ § e worw ot gt <iem

between Prithvira] Chauhan and ¥ EeE T o W TE gL A !
Muhammad Ghori were fought ?

(A) Panipat (A) FrfTE

(B) Talikota (B) At

(C) Tarain (C) A

(D) Kannauj (D) =

130. At which of the following place 180. Fierferfige # § e su™ W AT F

Sher Shah's tomb is situated ? e R R 7

(A) Delhi (A) fe=ht

(B) Sasaram (B) W

(C) Daulatabad (C) e
(D) =

{D) Bayana
131. ST Aews Heen fRam e TR oW

131. International Nelson Mandela day |s

celebrated on which date ? AR AT R 2
(A) 18t July (A) 18 T
(B) 218t July (B) 213w
(C) 315t July (C) 31 9=m
(D) 3 June (D} 353
W wHE & fore wm
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132. Which of the following is related with 182, THTAH  GEEHARAT : TeEEA S ?
“Saraswati Scheme" in this state 7
(A) Education Expansion (A) Tarem =1 9ET
(B) Book Bank (B) = A
(C) Book Publication (C) &= WHEH
(D) Cycle Distribution (D) TTEFe T
133. Reorganisation Bill for this state was 133, TmUSagEa i <A1 T wa e
passed in Loka Sabha in 5312
(A) 20 Dec. 1996 (A) 20 TeEms 1996
(B) 31 July 2000 (B) 31 5@ 2000
(C) 21 July 1998 (C) 21 gemd 1998
(D) 1 November 2000 (D) 1 =T 2000 |
134, Which of the following river or rivers 134. 6 U % TEHE GO ElTJII & FET T8
related to Ravisharkar Sagar dam ? a1 7Rt e 2 9 I
(A) Mahanadi, Jonk, Pairi (A) HEF, S, |
(B) Mahanadi, Shivnath, Hasdev (B) weT=l, FeE, 3@'*!?
(C) Mahanadi (C) wemE :
(D) Hasdev, Shabari (D) ToeE, vl
% wE o fora T |
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135. Which is declared as World Book

136.

137.

Capital for 2017 by UNESCO ?
{(A) Madrid

(B) New Delhi

(C) Conarky

(D) Bangkok

In 2016, Bharat Heavy Electricals
Limited has started 600 Megawatt

thermal unit in which district of this
state 7

(A) Raigarh

(B) Bilaspur

(C) Jahjgir-Champa

(D) Raipur

Which of the following is not included

in the power of Pardon of President 7
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135, T 2017 & foru B = o $iee
(A) Bfge
(B) s fawetl
(C) =i
(D) =R

136. 2015 4 9ra 2 wifesg & am
59 1= o Few R O 500 TmEre ) ade
TS STl T 2

(A) THETE
(B) ey
(C) Srsrfir—=rm

(D) TEgE

137, TgTd & &IFT Te RO < TifEa | T A
§ e mioer =6 3 7

(A) Reprieve (A) wiErer=H

(B) Remission (B) 9lEr

(C) Resplite (C) form

(D) Parole (D) Wirer
TE W % T e
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138.

139.

140.

At which of the following place

Gautama Buddha was bom ?
{A) Lumbini
(B) Uruvela
(C) Sarnath

(D) Gaya

Which of the following award Is given

for music In this state ?

(A) Raja Chakradhar Award
(B} Mini Mata Award

(C) Daw Mandaraji Award

(D) Bilasabai Award

During 5!, 8" century the ruler of this
area 'Prasanna Matra' is related to
which dynasty ?

(A) Sharbhpuri Vans

(B) Kalchuri Vans

(C) Pandu Vans

(D) Nal Vans
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138, Prefofes & 3 frg w4 o g8 &
B
(A) Sl
(B) F&d=T

(C) T

(D)

139, 30 =g A @A forem & fan wma gE
e smn e 2
(A) T Y FEA
(B) Hif wrar gw=rn
(C) == A=ws] TR
(D) Teermn =g qET

|
140. @ axd 5, 6 yamEa # I
FTAaTE VEE wEeaE few 9w ¥
Haferg 9 7
(A) YRt 531
(B) e =5
(C) g =

(D) &1 591

TF HE = e e
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141.

142,

L

If Speaker of Loka Sabha gives a
degision for the conduction of house

thel concern member is not consent
with this, what will happen %

(A) The decision of Speaker will be
final and binding to the house

(B) The concerned member will
appeal to the house

(C) Tha house will decide by majority
(D) The President will interfere

Which is not correct about Finance
Bill 7
(i) | It can be introduced In any
thouse of the Parliament
(ii) It'can be introduced in Loka Sabha
only

(lii) 'On deadlock between two houses
President will call joint session of
Parliament

(iv) President can refuse to sign and
return the bill to the Parllament with
objections

(v} No need to presigned on the bill
by the President

(vi) Rajya Sabha can't amend the bill

A W
B) () (V) (Vi)
© (i) (v i)
@) () ) ()
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141. Iz e 1 o 959 = g9 F0
* way o wy Pk 3 R, geEfth ges
ZHY gewd w2 2, 91 e

(A) T =1 Ty arfm o9 @ & T
TR B
(B) Wl Tew, U & HHE it S

(C) we =gHa | Fivfy e
(D) Treufs wErEy i

142, i s R d s a2 Y

(1) w8 "y & Tl o gea o qwenfim
s awa B

(i) % e oliems § geenfas fear s
AT B

(i) 21 T § iR £ T T weg
1 TGFT T qAGT

(iv) Treef e e O 3R R e
i A ofEa Hoe & FuE 99
Tl 2

(v} Bdgs w ipgufa & gdewms
AETHEAT TR B

(vi) TrsTEeT TersE O HegE AE o Hehd)

Ay () (i) (v

(B) (i) (v) (vi)

(C) (i (iv) (v

O) i) (v (v

TF & & oy &H
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143, According to the census of 2011,
what was the population of India ¥
{A) 121.06 crore
(B) 100.02 crore

{C} 111.02 grore

(D} 131.02 crore

144. Interest Rate Policy comes under

which of the following policy 7
(A} Monetary Policy

{B) Fiscal Policy

(C) Industrial Policy

(D) Agriculture Policy

145. Who of the following had founded the

‘Prarthana Sama]' in Maharashtra ?

(A) Ramkrishna Gopal Bhandarkar
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143, 2011 I SR AT THA h SHEE]
feeft ot 2
(A) 121.06 FiE

(B) 100.02 703
(C) 111.02 1%

(D) 131.02%0E

144. w1 = iy Frefoten § & Gy siada
Tt # 7
(A) wtfee <ftf
(B) et fifer
(C) afrafires +fifa
(D) T Aifd |

145, Trfafa 8 e b’
=T T ot 7
(A) TIFEVE T T2HER

(B) Vishnushastri Chiplunkar (B) Teropameht fermegomet
(C) Jyotiba Phule (C) E-:r&lﬁT&ﬁ
(D) Mahadev Govind Ranade (D) TETd M TS
w @ % forg T o
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L]
In which of the following region
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146. 146, Freafafem § 4 fem a3 § fwa quan
Birsa Munda was the leader of tribal afeard FEE s s 9 7
revolt ?
(A) Santhal Pargana (A) TerEr qorE
(B} Chota Nagpur (B) BTr ammgy
(C) Telangana (C) T
(D) Malabar (D) HeEw
147. The atmospheric layer where most 147. @7 argysea wa s§ gl A siften
of sun's ultraviolet radiation is T R i B R
absorbed
(A) Troposphere (A) ZraTiEsgT
(B) Stratosphere (B) REfTFm
(C) Mesaosphere (C) draiferat
(D) lonosphere (D) =TEATEET
148. Which planet is known as “Jewel of 148, W91 TR G Hes R % AW H
the solar system™ ? ST AT 2 7
(A} Earth (A)
(B) Mars (B) "t
(C) Jupiter (C) Fewafq
(D) Saturn (D) =if
TF F= & oo
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149.

150.

If a bill passed by the State

Legislature, Governor sent it to the
President, President returns the bill
to the State Legisiature with such
objections. The State Legislature
considers and pass the bill again.
Now the President

(A) is bound to approve the bill
(B) can refuse to approve the bill

(C) can use the power of veto on the
bill

(D) central cabinet will interfere

Match the following :
(i) Rule making
procedure
(ii) Procedure
established
by law
(iily Supremacyof (¢} United
the Constitution  Kingdom
(iv) Nomination of (d) Japan
members in
Rajya Sabha
(@ (b (c) (d)
(A) () i) (v) (i)
(B) () (v) () (i)
(C) (i) A{v) () (i)
(D) () (i) ()

(a) United States

(b) lreland

47-

149. =f: v fadmw veg fam

150. Fre=rifera =1 e fifaa
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: ERT i
21 ST B, T 38 Tl 3 0 O
o, Tt ¥ P e st wfka
oy fauEEveE & I EME b | e
Termree 3 T @ ga i R |

(A) ﬁmmaﬂa\:ﬁrﬁ%%?ﬂm%
(B) Toreremer i wefiepfey 371 & $eRM <60 Wehan &
(C) Tertvarn e FtrerTierrm = ST =R Tehell &

(D) Fig af=Avss wwaaT ®am

(i) Ffer Frior (a) HgF T

e
(if) Tl gy wenfig {h}m‘J!I'KﬁUE

(i) gREmd | (o) qg‘ﬁ%z frEn
At '

(iv) TemaeT 4 g (d) s
- ? ! i |

@ @® [ (d
@ O @m0
® ) v 0 )
(©) (i) (v) (B (i
@) (V) @iy (@) )

6 e & o e
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Time for marking answers : 3 Hours Maximum Marks : 150
|
H’t“d :
~gfiet 3 fe B -
1] w7 — | 1-20
2) arefematen 21-40
3) UH WTiches TEAT 41-60
4) a-:mq;_e:{ AT T 61-80
5) wET | 81-100
6) o AT 101-120
7) |THE AT — 1 121-150

TN ¥ 1| S H | T 150 9 R s R |

2. m‘f%.w %1 9E OMR Iw-3ffe (emar-viiz) w sifEa ffa |

3. T Y SR O T 1/4 3T e S |

4, Tl o} 8 % Ferheiat @1 @ oo U HiEgs B w i giia 2

5. OMR TE‘E!T—‘-?ﬁE (@iEe-fi7) =1 W G T U w0 s A FE /A ol 9y we o
mm%mﬁmﬁﬁﬁaﬁﬁmﬁatﬁﬁﬁwaﬁméﬁﬁ |

Note :

1. This Question Booklet contains Parts —
1) General Knowledge -1 1-20
2) Incilan Economy 21-40
3) Arithmetic and Logical Ability 41-60
4) Curl-nputar Related Knowledge 61-80
5) Hindi Language 81-100
6) English Language 101-120
7) General Knowledge -1l 121-150

Each quest\cn carnJas 1 mark. All questions are compulsory.

2. Indicate your answers on the OMR Answer-Sheet provided.

3. 1/4 mark will be deducted for each wrong Answer.

4. Use of any type of calculator or log table and mobile phone is prohibited.

5. While using Answer-Sheat care should be taken so that the Answer-Sheet does not

get tom or spoiled due to folds and wrinkles.




